# Placing Decimals with Multiplication Name:

Deter mine the placement of the decimal in each product.
7 5.809 x 7.8 = 453102 N\

1. Count the quantity of numbersto the
right of the decimal for each factor.
5.809 has 3 numbersright of the
decimal (5.809)
7.8 has 1 number right of the decimal
(7.8)

2. Add the amounts together. Y our answer
should have the same quantity of numbersto
the right of the decimal.
3+1=4
5.089 (3) x 7.8 (1) = 45.3102 (4)

Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than

\_ 48 J

D) 5x6392= 319 6 0

2) 76x3523= 2 6 7 7 4 8
3) 2231x95= 2 119 45
4 5x381= 190 5

5 953x95= 9 0535

6) 2205x227= 505075
7) 4x55= 2 2 0

8) 95x897= 8 52 15

9 9x946= 8 5 1 4

10) 5x764= 3820

11) 55x2= 110

12) 962x3.7= 35509 4

13 976x18= 1756 8

14) 183x7576= 1386 40 8
15 5g5x1.2= 7020

16) 16x888= 1420 8

17) 739x6= 4 4 3 4

18) g12x6.538= 40012586
19) 5x659= 32095

10.

11

12.

13.

14.

15.

16.

17.

18.

19.
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Placing Decimals with Multiplication

Name:

Answer Key

Deter mine the placement of the decimal in each product. Answers
7 5.809 x 7.8 = 453102 N\
1. Count the quantity of numbersto the 1 31.960
: . 2. Add the amounts together. Y our answer
right of the decimal for each factor. ;
, should have the same quantity of numbersto
5.809 has 3 numbers right of the the right of the decimal, o 26.7748
decimal (5.809) 3+1=4
7.8 has1 numbez 7r.|§1)ht of the decimal 5,089 (3) x 7.8 (1) = 45.3102 (4) N 21.1945
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but |ess than
4, 19.05
5. 90.535
1) 5x6302= 31.960
2) 76x3523= 2 6.7 7 4 8 6. _ 2.05075
3) 2231x95= 2 1.19 4 5 . 22.0
4) _
5x381= 1 9.0 5 o 85.215
) 953x95= 9 0.5 3 5
0 85.14
6) 2205x227= 5050 7 5
7) 4x55= 2 2.0 10. 3820
8) 95x897= 8 5.2 15 11 11.0
9 9x946= 8 5.1 4 1. 35594
10) 5x7.64= 38.20
. 13 17.568
11) 55x2= 11.0
13.86408
12) 962x37= 3 5.5 09 4 14'
13) g976x1.8= 1 7.5 6 8 15, 1.020
14) 183x7576= 1 3.8 6 40 8 6. 14.208
15) _
585x1.2= 7.0 2 O 7 44.34
16) 16x888= 1 4.2 0 8
18.  40.01256
17) 739x6= 4 4.3 4
32.95
18) 6.12x6.538 = 400126568 9
19) 5x650= 3 2.95
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